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Chemical Equilibrium

JfASurdiunauld (Reversible Reaction)

UFASudunivlE B0 U§Asuiasudafoidanansaiaufasu
Sounsuldarsassiu
asdadin (reactant) — winsond (product)
N,04(9) == 2NO,(g)
o ASzURMSLARUE (forward reaction)
N,0,4(9) —> 2NO,(g)
o AFzUIRNNTVORNAY (backward reaction)
2NO,(g) —> N,0,(9)

UfASunrdiunauld (Reversible Reaction)

N,0,(9) = 2NO,(9)
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Chemical Equilibrium
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= Fupaanwied 3undt dugawadn (dynamic equilibrium)

dugawada (Dynamic Equilibrium)
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Reversible First Order Reaction
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Chemical Equilibrium

éﬂﬂaﬁaaqa (Equilibrium Constant)
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éﬂﬂaﬁaaqa (Equilibrium Constant; K)

N,0,(9) == 2NO,(g)

f25°C
Initial Conc. Equilibrium Conc. Equi. Const.

(N,0,] [(NO,] (N,0,] [(NO,] [NO,12/[N,0,]
0.0400 0.0000 0.0337 0.0125 4.64x10°3
0.0000 0.0800 0.0337 0.0125 4.64x10°3
0.0600 0.0000 0.0522 0.0156 4.64x10°3
0.0000 0.0600 0.0246 0.0107 4.64x10°3
0.0200 0.0600 0.0429 0.0141 4.64x10°3




Chemical Equilibrium
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= PCl(g) == PCl3(g) + Clyg)
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Chemical Equilibrium
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e CO(g)+ % 0,(g) == COy(9)
o CH,(g)* 2H,S(g) == CS,(g) + 4H,(g)

e 2NO (g)+ Cly(g) = 2NOCI(g)
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Pb2*(aq) + Zn(s) == Pb(s) + Zn?*(aq)

[Pb(s)][Zn™"]

[Zn(s)][Pb*"]
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Chemical Equilibrium
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Ny(g) + 3H)(g) =—2NHs(g)
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2NO(g) + O,(g) = 2NO,(9)

[NO, T
[NOT[0;]

2NO,(g) = 2NO(g) + O,(g)
- [NOTO,] _ 1

[NO,F K
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Chemical Equilibrium

nanNVaNadvuadaus (Le Chatelier’s Principle)
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Chemical Equilibrium
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o Ny(g) + Oy(9) = 2NO(g)
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o 2N,0(9) == 2Ny(g) + Oy(9) «An,=3-2=1
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. 2N,0(g) == 2N,(g) + O,(g)
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Chemical Equilibrium
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InSuwavasgningiicioauga
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N, + 3H, = 2NH, + heat (AH vTJuau)
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Chemical Equilibrium
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